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| TOTAL TIME 1 hour 30 mm
45 questions
: 100 marks

- DO NOT OPEN THIS BOOKLET UNTIL YOU ARE
TOLD TO PO SO. |

. READ ALL THE INSTRUCTIONS CAREFULLY
= ANSWER ALL THE QUESTIONS.



‘What is the missing number in the box above?

PO s
Wht is the missing number in the box above?
B 9 2y 17
(3) 18 4y 21

What is the difference between 900 and 4207

(1) 476 (2) 480
(3) 520 (4) 580

"Petex has two 20¢ coins and three 50¢ coins. How much money does he

have aImE.r,ethﬁr‘?

[OREYZ @) 70¢
(3)  160¢ @) 190¢



R Lookai: the _' numberpattem below.

W o)
(3) 890 L @ s e

(1) Som 2y 7com
(3) 15cm 4) 22cm { )

7. What fraction of the rectangle is shaded?

(1)

3)
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10,

m s
15

(3

The picture below shows a weighing scale.

What is the mass of the
450 ¢

450 kg

(1)
(3)

There are 4 rows of chairs. _ -
HOW‘-inany,chairs are there altogether if there are 5 chairs in each row?

(1)
3)

1
20

@
)

(2)
(4)

2)
(4

| Pamelashared&iswems her hes
How many sweets did each of them get?
12
18

packet of flour shown above?
500 g
500 kg

9
25




1.
o What is the difference bctween the -

12.

13.

Study the hgure below carefully.

S ® 3 @ 7 C )
How many minutes are there from 3.25 pm. to 4 p.m.?
(1) 5 minutes (2) 7 minutes
(3) 25 minutes (4) 35 minutes ( )

8 children are at a party. If each of them shakes hands with the other 7

- children once, how many handshakes will take place?

1 3 ) 15
@ 2 @ 2 ¢ )



14,

1S,

Thetankcanbold | -~ 9 Jp more water than the tin.

(1 15 2 17 |
(3) 32 4y 129 (

i6. | /\ Of N
O _

What 1S the mlssmg number in- the box above‘?'

(1) 9 @) 18
3) 36 (4) 47 (
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17.

18.

19.

ey % @

- What is the missing number ivthe box above?

Sl ale

#®

sl-

Study the graph below Carefuliy

600|0 |Bo0 |88

Number “fcﬁlis of fnut _[mce sold S

060

Lime

Bach | | stands for 3 cups of fruit juice.

Orange : ] Guava | Watermelon | Canmot =

How many more cups of watermelon juice than carrot juice were sold?

(1) 24 @ 12
(3) 8 (4) 4

A group of chlldren is sitting side by side 1 a row.
How many children are there inthe fow?

9 (2) 10
(3) 1 (4) 12

- May is the 6" person. from the left and the 4™ person from the nght




L00k&t the. figure bove. "Which ane. of the following statements

_ Ithas3mmved_,_aces R T TR

-(2) ~Ithas 1 curved face and 1 ﬂat face s

(3) Ithasl curved face and 2 flat faces. - .

% It has 2 curved faoes and 1 flat face. g 3



- Section B (20 x 2 marks)

For each of the follomng qﬂes’fmns, wrlte the correct answer in tlle box

_ pmﬂded

21.

I am a 3-digit nmnber between 109 and 1 19 My dlglts add up to 7.
What number am I? S

: Mary bought 3 pens at $1 each. She gave hi cashzerSS . How much
change did she recewe"? e : . ;
$
23.  Natasha is [21cm tail. She is 8 cm taller than her sister. What is her
sister’s height?
cm
‘24.  ‘When Bobby opened his story book, the stth of the two facing page

numbers is 27. What are the two page numbers?

Znd




p.m.

The water from a water flask can be

poured into 4 similar jugs. Bach j jug

can hold 7 Iltres of water. What 1s the volume of the water flask?

I

27. Study tixs__patiém. below. Draw the pattern thar éor_nes next in the box

provided.




- There were 256 apples and 315 oranges. in a box 37 appIes 4 d is! |
oranges. were rotten and: thr@wn away. How many more: oranges than s
apples were left?

29.  There are four ropes of different colours. The;,purple rope is’ Ionger than

the brown rope. The. yeilow Tope is shorte_'{’_than_ the by
purple rope is shozter n'the or; pe: i

Tope

30.  Arrange the following fractions from the smallest to the 'biggest.

1

-
8 57 10

3L 10410+ 10 + 10 + 10 + [0= 2 Ixw0

What is the missing number in the box above?

11
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| 32 Hewmanysquaresarethere m the .ﬁgure-bé_l.ow?'

squares

-+ 33... Rachel colours 6 pages of her.colouring book.cach day, Afier 9 days,
" she still has 48 pages to colour before finishing the coleuring book.
How many pages are there in the colouring book?

| pages

34.  How many fours are there in 369

fours

35, Cross out the figure that does not belong 1o the set below.

S 16 0 160

e ad




How many more stickers does Melanie have than Bala?

stickers

37. Study the diagram below carefully. Each tin of sand is of equal mass.

90g || sand | sand

What is the mass of a tin of sand?

i3



g ‘How many semicircles and rectangles areTiceded to form tie figure

; coakies

T T

40.  John places 5 flags on
comner of the f

——————

—_—— .

each side of a square field. There is a flag at each
eld. How many flags are there in al}? :



Section C (5 x 4 marks)
- Answer each question in the space provided. Show your working clearly as
'lna’_'__'l"k_'s"-“'fiﬂ”bé'ﬁji?ai-déi_l_ for relevant statements and correct answers.

upifs in a school. 538 of them are girls. How many more

41. There are 957 pupil§
- girls than boys are there? E

42.  Serina bought 3 packets of chocolates. There were 6 chocolates in each

packet. If she re-packed the chocolates into packets of 2, how many
packets would she have?

15



43. Iohn lbo'ug}'it 2 toy cars and a 0y boat. The toy

boat cost twice ag much as
- atoy car. If the toy boat cost $20, how much di

d he spend altogether?

44.  Noel has 348 marbles. Bryan has 139 more taarbi
marbles do the h

es than Noel. How many
0ys have altogether?




45, A frmt seller sold S strawberties. for $2 and 3 apples for $1. Mdm Azlina
. bought 15 strawberries and 3 apples. How much did she pay? "

End-of-Paper
& :I. o < o~
‘ 3.3 Have you checked
- Q}ur answeis?

17




EXAM PAPER 2009

SCHOOL : RULANG PRIMARY
SUBJECT : PRIMARY 2 MATHEMATICH

TERM : SA2

o1 102 (0304 |05 Q61 Q7 | Q8 [ Q9 [Q10[011]012]Q13] Q141015 ] Q16 ] Q17

3 3 2 4 3 2 1 1 1 3 2 4 4 4 2 2 2

018 019 | 020

2 1 3

21)115 22)$2  23)113cm  24)13and 14  25)10.10p.m. 26)28L

27) 28)81 29)orange 30)1/10,1/8,1/5 31)6 32)8

33)102 34)9 35) 36)8 37)50g 38)4 semcircles 3 rectangles
39)586 40)1e6

41)957-538=419
There are 419 boys.
538-419=119
There are 119 more girls than boys.

42)3x6=18 45)3x5=15
1i8-:-2=9 2x3=6
She had 9 packets. 6+1=7
She paid $7
43)20-:+-2=10
10x2=20
20+4+20=40
He spent $40 altogether.

44)348+139=487
348+487=835
They have 835 marbles altogether.






